TR SR TE
B ‘ st @‘ g‘ B =

Heae

TE
#B A

EEBAFZ
L HET MR

1:250 (A1)
1:500 (A3)

=1:100 H
1:200 H

V;
V=

i X

D,

159. 50

- 15 9G% HiS9sy 1595y 05651 [HOS°6L  H G651
Wy 6G13d //\
“ H H Heeosy  H1e'9sy  HooOPL  [HOOOL  H  0°Opl
\lF H H Heeosy  HLL'9Sy {000l  [HOO'OL  H  0°0EL
~ w— _
= s
= -
” H H Helesy  Ho00'9sy ({0002t o002  H 00zt
_ H H He6'ssy 0695y ({00001 [HOOOL  H  0°00
_ Heg'ssy  (es'ssy ({0006  Hoo'ob M 0°06
oy
o o
. =
& )
9781d _
_ Hl9'ssy Hov'ssy Hoo'08  Hoo'0z M 0°08
o
S
= :
= =
©
&
S
sln &
5% o1
8|~ g
| MK
Nﬁﬂhm_ Hiv'ssy  Hsy'ssy 0009  HO00'Z H 0°09
1'853d al a1
; nﬂw@ = 66 ‘95 Hee'ssy 1965y Hoo'8s  Hoo'sl M 085
9154 il VN 2
EEE 2
= =
8 B Wl ol ol -
¥ o ) 8| & o e=
) sl o) & 38
| B (B K @ o
] 4| | 58 o
H Hov'ssy  Hov'ssy Hoo'oy  Hoo'oz M 0°0y
I~
S
o
2
| H H10°65%  [l0°SSF HO00Z  [HO0'0Z 002
H H96 vSy  H96 ¥Sy ({000 H00°0 H 00
H Hoo'ssy  Hoo'dsy H0ZT-  HOZTT H 7%
H HL6vsy  HL6¥Sy  [H09°€-  HOP'L H 9°¢-
g g | sl = Al e | = | = | =
e 2 . =]
001:1=§ 3 i
Am b = % o ]
= B 2
& = ita B o By =




B & B M % £14100

1.70 7.70
BELZT>R H=2 2m
AvyyaTzR Helm L0-60_
BEE 42— BERIE 3008
2EAIE 3008 A IO vy
Hibe 1. 50% 1.50% =ik s
= -
I L - ;'l

BRELZx X H=1.8m

L R =

RIE:BEFHETAIV20F t=bcm

L REERER  KIBESAEAAN-25 t=8cm

TR BAE)TIV4-7URC40-0

t=12cm

BRERHR: A FPREME t=40cm

7.98

8.02

2.83

AEt 52—

ik

BELIZxYR H=2 2m

ekt A=

RIE BEFHBETAIV20F t=5cm

L R AR R EE SRR EM-25 t=8cm

TR B 4)Tyv4-7VRC40-0 t=12cm

BERBR: £ 4

v FREMIE t=40cm

HRFIEESEHETE

&
=

%‘maw‘%‘ 5

50 (A1
100 (A3

)
)

LHEWKFZTH

LET EAREE AR




Mo () RS

_58.0
G H=455.61
F H=455.39
~Pt48. 8 Pt48. 8~ Pt58.0
5.32 ) 16.78 ) 20. 63
cl: 22.6 C1:42.2 1:42.2
c2: 0.1 c2: 0.1 c2: 0.1
Bl: - BI: - BI: -
B2: 0.1 B2: 0.1 B2: 0.1
L1: 0.7 L1 0.7 L1: 0.7
L2: - L2: - L2: -
L3: - L3: - L3: -
D L =450.00
40.0
G H=455.40
F H=455.40
13.37 ) 25. 86 ) 3.49
~Pt28.3 Pt28. 3~ Pt40.0
AELL 5 — Bl - €1:20. 1 €1:22.6
| c2: - c2: 0.1 c2: 0.1
Bl: - BI: - BI: -
= - B2: - B2: 0.1 B2: 0.1
L: - L1: 0.7 L1: 0.7
L2: - L2: - L2: -
L3: - L3: - L3: -
D L =450. 00
20.0
G H=455.01
F H=455.01
TR R
Pt20.0 ® L=36.3m ® L=28.6m
AR 5—
c1: - cl: - c1: -
02 - c2: 0.1 c2: 0.1
i \ " T ' Bl: - Bl: - Bl: -
. [" B2: - B2: 0.1 B2: 0.1
i y -— e
I L1: - I: - L: -
L2: - L2: - L2: -
L3: - L3: - L3: -
D L =450.00
0.0
G H=454.96
F H=454,96
. Pt0.0
AEEE— :
| .} ¢ - GEMD
3 C2: - (BB
¥ 1] "
l C B BI: - (8+)
| B2: - (BREL)
L1: - (RE®E)
L2: - (BREE@EER)
L3: - (PrxmEER)
o TR EISEHFETE
DL= m—
- |7 #& | 1: 100(AD)
T 1A mmm | B | 1000

LEHAFITHE

LHET EMAREE AR




